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How is an electron a wave ?

E) Paible slit experiment .
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How is an electron a wave?

C) Double slit experiment .
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How is an electron a wave ?

Double slit experiment .
↳ electron .
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Wavefunctions !

1) his = hithz .

Per In = that =/ bath -$
-

→ phase .

2), A particle is described by

a wave function . 41kt )
E-to

3) [☒ gbpkx.is/2dx
a

Éx = Probability of

# finding particle labs
attire 1-•De Broglie Waoekagth

.

_

€I=¥=o¥
☐ 119 . 14s h : plank constant

×⇐ = 6.63×10-345/-142 .
=
#vHAnatomize



Schrodinger Equation
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Initial condition
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